Hundredths as Decimals

1. Complete the following sentences.
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2. Circle the odd one out.
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3. Use the digit cards to complete the statements so that they are correct. You can
only use each digit card once per statement.
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Find more than one possibility.
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Hundredths as Decimals

4. Complete the following sentences.
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5. Circle the odd one out.
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6. Use the digit cards to complete the statements so that they are correct. You can
only use each digit card once per statement.

giapon

) r= = r==

A 2 > ole!' ' |

) 100 ) '\ L '\ L
) A

B. forty-nine hundredths < oe®, 1, !
— v o

Find more than one possibility.
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Hundredths as Decimals

7. Complete the following sentences.
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9. Use the digit cards to complete the statements so that they are correct. You can
only use each digit card once per statement.
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Find more than one possibility.
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Homework/Extension
Hundredths as Decimals

Developing
1. A. 38, 0.38; B. 57, 0.57

2. B is the odd one out because it shows 0.78 not 0.87.
3. Various answers, for example: A: 0.16, 0.14, 0.21; B. 0.41, 0.44, 0.62

Expected
4. A. 44, 0.44; B. 39, 0.39

5. D is the odd one out because it shows 0.35 not 0.63.
6. Various answers, for example: A: 0.03, 0.04, 0.07, B. 0.73, 0.70, 0.74

Greater Depth

7. A. 64, 0.64; B. 40, 0.40

8. A is the odd one out because it shows 0.73 not 0.71.

9. Various answers, for example: A: 52 hundredths > 0.36, 82 hundredths > 0.56, 42
hundredths > 0.36; B: 0.3 < 0.54, 0.4 < 0.58, 0.5 <0.58

Classroom classroomsecrets.co.uk
secrets Homework/Extension — Hundredths as Decimals ANSWERS

© Classroom Secrets Limited 2021



